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BUBARFR (mL) > 500~1000: 1 HIELH] (Y 500 JTANBEERANAIN N ImL $2H0R), 875 I AIRE 4 B Bl
AR (UK, ThE 20% 8% 200w, #~ 3S, [A]F% 10S, A 30 YK):; 8000g, 4°CE.L» 10min, HX Ly,
B UK AR,

2. HEALHE FHBHL TR (g): FREUREM (mL)A 1: 510 FIELE] CEFRENZ 0.1g H4H, A 1mL
BB, VKIBThAIH . 8000g , 4°CESL» 10min, B LiE, Buk &M,

3. IMiE R MALEE. IR R A (mL: SEIRAF (mL)N 1: 5~10 FIEEE] (2 0.1mL
Mg %) N 1mL $3REURD, vkKiBh A%, 8000g , 4°CE Ly 10min, B LT, BEyk EA0.

WP E:

1. AT 30min DAL, WFTHKZE 505nm, ZARKIEE.

2. FTKIBIE 95 JiE.

3. LARMRIECH]: AR AR AR = 1 SRR E, A2 .
4. kR (FE EP BRI RARRFD:

G AR (ul) X IR W
P 90 90
K 150

i — 150

45°C/K, HERIN 15min, 95C/KIR 5 eh&ab N, SRATH
G&HBUTEER 10000g  4CELy 10min 5 EE).

AT 100 100

THEW 900 900

VRAI, B 37°C (s Bk 25'c (HEWR) R 15min J5, T 505nm BKAMEEUROLE . HE A

A=A DIFEE-A XTI . REANIIE /B XTI .

THL ¥ETHE:
1. FRUEAE FIE EIHJTFEA v = 0.4858x - 0.0042, R2=0.9999; x AARHEMHE (umol/mL),

y NOEIE .
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2, BREAREIHE

HALE L : B mg AEAEATSB AT E 1Inmol F & HEE XN —NEEIE ST, THL 3§ 4
(nmol/min/mg prot)=( A A+0.0042) +0.4858 XV [+ (V # X Cpr)=TX 1000

=366X (A A+0.0042) +Cpr

3. HEREAEEEE
BATE X B g AV BB FEA Inmol AR E SXUN— BTG 1 A .
THL % 77(nmol/min/g #£EE)=( A A+0.0042) ~-0.4858 XV [+ (W XV ¥V £EE) +TX1000

=366 X ( A A+0.0042) ~W

4. AR AR T

AT E 1 JIA4H BN B B AL = AR Inmol B AT B SON— NS AL, THL 360
(nmol/min/104 cell)=( A A+0.0042) +0.4858 XV Jx /& (500 XV #+V FfE) +TX 1000

=0.732 X ( A A+0.0042)

5. HILE R BHRHHE

BT 52 mL I3 (D S48 EL =4 1nmol i 4 B 2 U — MBS 71584, THL 3% )
(nmol/min/mL)=( A A+0.0042) =0.4858 XV = (V i XV FE+V FEA) +TX1000

=3660 X ( A A+0.0042)

VEE: IIAFEAMREL: 0.09mL; V FEE: IIARIBGEAER, 1mL; vV k& RNERSAET, 0.24mL; V
W POANIE R R, 0.1mL; Cpr: FAEAEANIKE, mg/mL; W: FEARFIE, g; 500: 40 S40E
NE, 500 J3; T: JRSIEFA], 15min;



